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A Level H2 Math

Sigma Notation Test 2

Q1
Q2
n n-1
Given that Y k!(k* +1)=(n+1)!n, find D (k+1)!(k* +2k +2). [3]
k=1 k=1
Q3

A geometric sequence 7;, 7,, T3, ... has a common ratio of e. Another sequence
U,, U,, U,, ... 1s such that U, =1 and
U =InT -3 forallr=1.

(i) Prove that the sequence U,, U,, Uj, ... is arithmetic. [2]

A third sequence W, W,, W;,.. is such that @ =1 and
W, =W +U, forallr=1.

n—1

(i) By considering Z(W}H —,), show that ¥, =1 (n® —n+1). [3]
r=1
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Answers

Sigma Notation Test 2
Ql

(a) (i)
By GC, sum to infinity 1s 3.

(a) (ii)
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